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RIER D AR IR R AR E

HA3—2 BEYIERIILEESNSEHEICRTHIEER0/1) _ _ EEET W 2AAE S
SEFHBOME | BHRES | 179D0011 | BT | A | Prfeth | AR e A
, SR O TiRICHET ST SERIHKR
ﬁg TREOBRBOEILEADKRES TREOHBESILNDKRES TREOBHOEFILADKES rTREDHBEEIEADKRES
P 100kN/mM%#8Z % - -~ - -|3mEREZ D -~ - - -| 100kN/m%#8 2% - -~ - -|3mEEBZRS -~ -
Lt 100|000 ~ 475 59.20 | #hAs 000 ~ 175| 1.78 9.63 ZhnLst 1.00] 5.00 ~ 5.00 59.20 | TS | 5.00 ~ 5.00| 1.78 9.53
2 100kN/ Mm% 2% - -~ - -|3mZE#BZ % -~ - - -| 100kN/ Mm% x5 - -~ - -|3mEBZ D -~
Ths 1.00 000 ~ 564 70.52 | #nS | 000 ~ o000 1.71 917 Thilst 1.00 1 5600 ~ 6.26 70.562 | #hs | 6.00 ~ 626\ 1.71 9.17
3 100kN/ Mm% 2% - -~ - -|3mERBEZ B -~ - - -| 100kN/mM%#BZ % - -~ - -|3mEBZ D -~
This 1.00 1000 ~ 469 5848 | #hs | o0oo ~ 469 | 1.83 9.78 Thist 1.00 | 5.00 ~ 56.00 58.48 | Ths | 6.00 ~ 5.00)| 1.83 9.78
4 100kN/ Mm% % % - -~ - -|3mEREZD -~ - - -| 100kN/mM%E#B% % - -~ - -|3mEFEZD -~
Fhnst 1.00 | 000 ~ 332 42.23 | =ns 000 ~ 332|225 12.03 FhnLst 1.00 | 5.00 ~ 56.00 42.23 | =ns | 5.00 ~ 5.00)| 2.25 12.03
5 100kN/ Mm% 2% - -~ - | 3mEHBR S -~ - - -| 100kN/mZ#z % - -~ - -|3mEBZD -~
st 1.00 1000 ~ 337 42.77 | =hs | 000 ~ 337|224 11.97 zhn st 1.001 6.00 ~ 5.00 42.77 | Fhs | 5.00 ~ 5.00| 2.24 11.97
g 100kN/mM%#8Z % - -~ - -|3mZEiBZ S -~ - - -| 100kN/mM%#BZ% - -~ - -|3m%E#BZ B -~
Thilst 1.00 1 000 ~ 464 57.90 | Tnst 000 ~ 164 | 1.86 9.93 Thilst 1.00| 5.00 ~ 5.00 57.90 | =nS | 6.00 ~ 5.00)| 1.86 9.93
7 100kN/mM#{ 2% - -~ - -|3mERER D -~ - - -| 100kN/mM#Z#BZ % - -~ - -|3mEEZD -~
Fhnst 1.00 | 000 ~ 764 97.83 | =nst o000 ~ 764|224 11.99 FnLst 1.00] 6.00 ~ 1021 97.83 | TN | .00 ~ 1021| 2.24 11.99
P 100kN/ Mm% 2% - -~ - | 3mEHBR S -~ - - -| 100kN/mMZ# 2z % - -~ - -|3mEBZX D -~
Fh st 1.00 1000 ~ 611 76.67 | RS | 0oo ~ 611|272 14.54 ThLlst 1.00 1 .00 ~ 1021 76.67 | =N | 500 ~ 1021|272 14.54
9 100kN/m%E#Bz25| 1.00 | 000 ~ 059 10874 |3mZEBzZ5 -~ - - -| 100kN/mM%#B25 | 1.00 | 1055 ~ 1225\ 10874 |3m%E¥zZ5 -~
Thils 1.00 1059 ~ 837 100.00 | #hdsk | 000 ~ 837|215 11.62 Thist 1.00 | .00 ~ 1055 100.00 | =05t | 6.00 ~ 1225| 2.15 11.562
10 100kN/m#z#z5 | 1.00 | 000 ~ 033 10482 |3mE#Bz5 -~ - - -| 100kN/Mi%#25 | 1.00 | 1083 ~ 1181 104.82 |3m%E#BZ% -~
zhLst 1.00 1033 ~ 811 100.00 | #nst 000 ~ 811) 207 11.10 zhilst 1.00 ] 6.00 ~ 1083 100.00 | =05 | 6.00 ~ 11.81| 2.07 11.10
71 100kN/m#%#8z5% | 1.00 000 ~ 045 106.65 |3mEBZ D -~ - - -| 100kN/M%Z#BZ% | 1.00 | 1054 ~ 11.80 106.65 |3m%EBZS -~
zhs 100|045 ~ 823| 100.00| #nLlst | 0oo ~ 823|216 11.57 ZThst 1.00] 500 ~ 1054 100.00| ThUs | 5.00 ~ 11.80| 2.16 11.57
12 100kN/ Mm% Z % - -~ - -|3mEREZD -~ - - -| 100kN/mM%E#EZ % - -~ - -|3mEFEZD -~
Fhnst 1.00 1 000 ~ 474 59.09 | =nst | 0oo ~ 000\ 166 891 FnLst 1.00 | 5.00 ~ 56.00 59.09 | TnLS | 6.00 ~ 5.00| 1.66 891
100kN/M##8 x5 ~ ImEEZD ~ 100kN/ M%E#B% % ~ ImEBAD ~
R ~ zhst ~ ZFhLst ~ zhLst ~
100kN/mM%#8Z % ~ 3ImEREZD ~ 100kN/ Mm% % % ~ ImEHBZ D ~
Zhs ~ Zhst ~ ZhLst ~ Zhs ~
100kN/mM%#8Z % ~ 3ImEHBR D ~ 100kN/ Mm%z % ~ ImEEZD ~
ZhLs ~ ZFhst ~ ZhLst ~ ZFhLst ~




